
Answers 
  
Activity 1  
 

1 a): 
1

5
 of 20 grapes = 4 grapes.  

1 b): 
2

5
 of 20 grapes = 8 grapes.  

1 c): 
3

5
 of 20 grapes = 12 grapes.  

1 d): 
4

5
 of 20 grapes = 16 grapes.  

2 a): 
2

3
 of 9 = 6  

2 b): 
2

3
 of 12 = 8  

3 a): 
3

4
 of 16 apples = 12 apples  

3 b): 
5

9
  of 45 oranges = 25 oranges  

3 c): 
7

10
  10 of 30 kiwis = 21 kiwis 

 

Activity 2 

 

1. a) 16 ÷ 4 = 4  

         
1

4
 of 16 flowers = 4 flowers  

1. b) 16 ÷ 4 = 4  

          4 × 3 = 12           

          
3

4
 of 16 flowers = 12 flowers  

1. c) 18 ÷ 6 = 3  

         
1

6
 × 18 glasses = 3 glasses  

1. d) 18 ÷ 6 = 3  

          5 × 3 = 15  

         
5

6
 × 18 glasses = 15 glasses 

 


